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•  Confine&HClO/Cl2:&

"HClO"+"H+"+e)"↔"1/2Cl2"+"H2O" " "EH
0$=$1.59$V$

$
$

&&
"Al"confine"per"definizione"si"deve"avere"[Cl2]"="[HClO]."Inoltre"in"questa"
regione"si"ha:"

"2[Cl2]"+"[HClO]">>""[ClO)]"+"[Cl)]"

"2[Cl2]"+"[HClO]"="10)4""⇒"""3[Cl2(aq)]=10)4""⇒"[Cl2(aq)]"="3.3"10)5"

"[HClO]"="ClT"–"2[Cl2(aq)]"="10)4"–"2x3.3"10)5"="3.3"10)5"
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(3.3 10 ) 1741.59 0.0592 log   =   1.59 0.0592 log
[ ] 3.3 10 [ ]HE H H

−

+ − +

⋅
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× ⋅

−HE =  1.46 0.0592pH (Linea'3'nel'grafico'7.4)'




















































